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QUESTION 1

A user reports that they are unable to connect to their desktop from the internet using PColP, but they are able to
connect via BLAST. Which could be the cause of the issue?

A. The firewall is denying port 80 to the Unified Access Gateway.
B. The firewall is denying port 443 to the desktop.

C. The firewall is denying port 4172 to the Unified Access Gateway.
D. The firewall is denying port 3389 to the Desktop.

Correct Answer: C

Reference: https://kb.vmware.com/s/article/1026766

QUESTION 2

An administrator configured a virtual machine to use an NVIDIA card but the virtual machine is not starting up. What
could be the cause of the issue? (Choose two.)

A. No suitable host could be found.

B. Not all memory has been reserved on the VM.
C. Not all CPU has been reserved on the VM.

D. The Desktop Pool doesn\\'t support 3D cards.

E. 3D graphics cannot be used with local storage.
Correct Answer: AB

Reference: https://techzone.vmware.com/resource/deploying-hardware-accelerated-graphics-vmware-
horizon-7#horizon-pool-and-farm-settings

If you configure a graphics card, and the host has no resources available (all GPU memory used for example) or not all
guest memory has been reserved, then the VM won\\'t start. By process of elimination: Not all CPU has been reserved
on the VM -> CPU reservation not necessary The Desktop Pool doesn\\'t support 3D cards -> There is no mention of

Horizon within this question. 3D Graphics cannot be used with local storage -> 3D Graphics is not dependant on
storage.

QUESTION 3

Which three can be used by a Horizon administrator who wants to provision an application to users\\' desktops?
(Choose three.)

A. VMware App Volumes Application Package

B. VMware Horizon Published Application
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C. VMware Thinapp
D. VMware Dynamic Environment Manager
E. VMware App Volumes Writable Volume

Correct Answer: ABC

QUESTION 4

Which three options are required to use an instant-clone pool? (Choose three.)
A. VMware vSphere

B. Horizon Intelligence

C. Horizon Composer

D. Horizon Connection Server

E. Horizon Agent

F. High speed Internet Access

Correct Answer: ADE

Reference: https://docs.vmware.com/en/VMware-Horizon/2106/virtual-desktops/GUID-AD6D9E9B-5EDD-4B0OF-
AB5C-7D4393028420.html

View composer is used for Linked Clones not Instant Clones. Moreover, Linked Clones is a deprecated technology and

no longer supported after Horizon 8 2006. A high-speed connection is irrelevant here and the other two options are not
requirements.

QUESTION 5

A user is complaining that each time they logon the need to change the settings for the e- mail client. Which three
options can an administrator deploy to make sure the user\\'s settings are being saved?

A. VMware Dynamic Environment Manager
B. Flexible profiles

C. VMware App Volumes Writeable Volumes:
D. Roaming Profiles

E. Mandatory profiles

Correct Answer: ACD

QUESTION 6
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Which description explains Cloud Pod Architecture?
A. Cloud Pod Architecture is a feature that requires additional licenses to activate and use.
B. Cloud Pod Architecture is a feature only available when using Windows virtual desktops in a Horizon environment.

C. Cloud Pod Architecture is a feature that provides cross-data center administration, high availability desktops, and
disaster recovery capabilities.

D. Cloud Pod Architecture is a feature that allows a vSphere cluster to become highly available for virtual desktops.
Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-Horizon/2106/horizon-architecture-planning/GUID-6 CEB37BC-
F98B-4AB0-B2FB-41DD207D9BCC.html

QUESTION 7

An administrator is leveraging PColP protocol in their Horizon environment and wants to distribute clients to end users
that have the smallest footprint possible with no local operating system. Which client type satisfies these requirements?

A. Teradici based zero clients

B. Windows embedded thin client
C. MacOS Client

D. Android based thin client

Correct Answer: A

QUESTION 8

Select the correct command to decommission the Horizon Connection Server replica.
A. vdmadmin.exe

B. viewdbchk.cmd

C. lvmutil.cmd

D. vdmexport.exe

Correct Answer: A

Reference: https://kb.vmware.com/s/article/1010153

QUESTION 9

Which two methods are available for authentication to a Unified Access Gateway? (Choose two.)
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A. Web Services Federation

B. Smart Cards

C. OpenlID Connect

D. Open Authentication (OAuth)

E. Security Assertion Markup Language (SAML)

Correct Answer: BE

https://techzone.vmware.com/blog/what-oauth-learning-basics The following authentication mechanisms are available:

AD credentials, RSA SecurlD , RADIUS , Smart cards , Security Assertion Markup LangUnified Access Gateway
(SAML)

QUESTION 10

An administrator sees a lot of instant-clone template VM\\'s that are not in use anymore in vCenter. What tool needs to
be used to clean up old templates?

A. iccleanup.cmd

B. icunprotect.cmd

C. vdmadmin.exe

D. icmaint.cmd

Correct Answer: A

On the Connection Server are three utilities that you can use for the maintenance of instant-clone VMs in vCenter

Server and the clusters that the VMs are in. The utilities are IcMaint.cmd, IcUnprotect.cmd, and IcCleanup.cmd and are
located in C:\Program Files\VMware\VMware View\Server\tools\bin.

QUESTION 11

End-users are complaining that they are frequently being asked for credentials when opening additional apps. Which
step should the administrator take to resolve the issue?

A. Configure SSO Timeout by modifying the Global Settings in Horizon Administrator.
B. Configure Session Timeout by modifying the Client Settings in Horizon Client.

C. Configure a time limit by modifying the Horizon GPO.

D. Configure Desktop Timeout by modifying the Pool Settings in Horizon Administrator.
Correct Answer: A

https://docs.vmware.com/en/VVMware-Horizon-7/7.13/horizon-console-administration/GUID-
E2A7CA32-193D-43D9-BO8E-DD20CAE9CA28.html
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QUESTION 12

Which can be used to make sure only certain Connection Servers are used for a Global Entitlement?
A. Category Folders

B. Home sites

C. Tags

D. Access Groups

Correct Answer: C

https://docs.vmware.com/en/VMware-Horizon/2203/horizon-cloud-pod-architecture/GUID-4CFD6907-AA23-42EA-
BOOC-39EC34819277.html

QUESTION 13

An administrator wants to provision a new Golden Image but doesn\\'t see the VM in the list with golden images. Which
could be the cause of the issue? (Choose two.)

A. No snapshot was made after optimizing the golden image.

B. There is more than 1 active snapshot on the golden image.

C. The golden image VM is not configured with a CD-ROM player.

D. The wrong Guest OS Version was selected when creating the golden image.
E. The golden image was not optimized.

Correct Answer: AD

Reference: https://docs.vmware.com/en/VMware-Horizon/2006/virtual-desktops/GUID-
D9C46AEF-1C41-4711-BF9E-84362EBEGABF.html

QUESTION 14
DRAG DROP
Drag and drop the TLS Configuration steps on the left into the correct sequential order on the right.

Select and Place:
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TLS Certificate Configuration Step Correct Sequence
Modify the certificate-friendly name to
vdm Step 1
Impert the TLS certificate into the
Windows local computer certificate store Step2
Configure clients to trust the root and e
intermediate certificates =
Get a new signed TLS certificate from a CA Step 4
Correct Answer:

TLS Certificate Configuration Step Correct Sequence

Step 1 Get a new signed TLS certificate from 2 CA

Import the TLS certificate into the
Step 2 | Windows local computer certificate store

Modify the certificate-friendly name to
S5tep 3 | ydm

Configure clients to trust the root and

Step 4 | | : e
P intermediate certificates

QUESTION 15

A user reports that sometimes they have issues using their remote desktops and published applications. What three
pieces of information should be collected to troubleshoot the issue? (Choose three.)

A. What exactly did the user see on the screen when the issue occurred?
B. Has the user reformatted recently to clean up old cached data?

C. Does the user\\'s home PC have the same problem?

D. What time was it when the problem occurred?

E. What was the user doing when the issue happened?

Correct Answer: ADE
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